AMENDATORY AGREEMENT

THIS AMENDATORY AGREEMENT is made between the **CITY AND COUNTY OF DENVER**, a municipal corporation of the State of Colorado (the "City"), and **SKIDATA INC.**, a Delaware corporation, whose address is now 5090 N. 40th St., Suite 450, Phoenix, AZ 85018 (the "Contractor"), individually a "Party" and collectively the "Parties."

WHEREAS, the Parties entered into an Agreement dated May 5, 2021, for an automated parking revenue control system for City owned public garages (the "Agreement"); and

WHEREAS, the Parties now wish to modify the Agreement as set forth below.

NOW, THEREFORE, in consideration of the mutual covenants and agreements hereinafter set forth and valuable consideration, the receipt and sufficiency of which are hereby acknowledged, the Parties incorporate the recitals set forth above and amend the Agreement as follows:

- 1. Effective upon execution, all references to Exhibit A in the existing Agreement shall be amended to read Exhibits A and A-1, as applicable. Exhibit A-1 is attached and will control from date of execution.
- **2.** Subsection 18.4.1 of the Agreement, titled "<u>Maximum Contract Liability</u>," is amended to read as follows:
 - "18.4.1. Notwithstanding any other provision of the Agreement, the City's maximum payment obligation will not exceed One Million Four Hundred Twenty Thousand Two Hundred Twenty-Five Dollars and Forty-One Cents (\$1,420,225.41) (the "Maximum Contract Amount"). The City is not obligated to execute an agreement or any amendments for any further services, including any services performed by the Contractor beyond that specifically described in **Exhibits A** and **A-1**. Any services performed beyond those in **Exhibits A** and **A-1** or performed outside the Term are
- **3.** Section 36 of the Agreement, titled "NO DISCRIMINATION IN EMPLOYMENT," is amended to read as follows:

performed at the Contractor's risk and without authorization under the Agreement."

- ****36. NO DISCRIMINATION IN EMPLOYMENT**: In connection with the performance of work under this Agreement, the Contractor may not refuse to hire, discharge, promote, demote, or discriminate in matters of compensation against any person otherwise qualified, solely because of race, color, religion, national origin, ethnicity, citizenship, immigration status, gender, age, sexual orientation, gender identity, gender expression, marital status, source of income, military status, protective hairstyle, or disability. The Contractor shall insert the foregoing provision in all subcontracts."
- **4.** Except as amended here, the Agreement is affirmed and ratified in each and every particular.
- 5. This Amendatory Agreement is not effective or binding on the City until it has been fully executed by all required signatories of the City and County of Denver, and if required by Charter, approved by the City Council.
- **6.** The following attached exhibits are hereby incorporated into and made a material part of this Agreement: **Exhibit A-1**, Scope of Work.

REMAINDER OF PAGE INTENTIONALLY BLANK

Contract Control Number: Contractor Name:

DOTI-202367028-01[202057275-01] Skidata Inc.

By: _	DocuSigned by: Activity Transaction Trans	×	
Name	Robert Weiskopf :		
	(please print)	ES	
Title:	SVP SKIDATA Inc/CSO		
	(please print)	3	
ATTE	ST: [if required]		a a
Ву:			
Name			
	(please print)		
Title:		5	
-	(please print)		





EXHIBIT A-1, SCOPE OF WORK

ISSUE DATE: 11/10/2022

	Project Information									
PROJECT NAME:	CITY OF DENVER — CHANGE ORDER #2	SKIDATA CONTACT:	NATHAN KEIL							
ACCOUNT NAME:	CITY OF DENVER	PHONE NUMBER:	(720) 697-4757							
PROPOSAL#:	275183	E-MAIL ADDRESS:	NATHAN.KEIL@SKIDATA.COM							



FULL PROJECT - INVESTMENT SUMMARY							
EQUIPMENT:	\$ 75,283.65	3.65 EQUIPMENT WARRANTY TERM: 12					
SOFTWARE:	\$ 8,686.84	Project Dates					
LABOR:	\$ 33,107.00	Your Desired Go-Live	*10/31/2023				
FREIGHT:	\$ 6,308.39						
FREIGHT SURCHARGE:	\$ 1,581.30						
ANNUAL LICENSING FEES INCLUDED:	\$ 53,376.00						
PROJECT SERVICES:	\$ 18,000.00						
TOTAL SYSTEM INVESTMENT:	\$ 196,343.18						

	FULL PROJECT - PAYMENT SCHEDULES OF VALUES						
#	PAYMENT DESCRIPTION	%	\$ AMOUNT				
1	DEPOSIT CHECK - RETURN WITH SIGNED AGREEMENT TO ACTIVATE THE PROJECT	50%	\$ 98,171.59				
2	ARRIVAL - EQUIPMENT AND SOFTWARE INVOICED ONCE RECEIVED AT SKIDATA	30%	\$ 58,902.95				
3	SUBSTANTIAL COMPLETION - UPON GO-LIVE, AN INVOICE WILL BE ISSUED	15%	\$ 29,451.48				
4	FINAL RETENTION - AT PROJECT CLOSE-OUT, A FINAL INVOICE WILL BE ISSUED	5%	\$ 9,817.16				

CITY & COUNTY OF DENVER - INVESTMENT SUMMARY							
EQUIPMENT & SOFTWARE:	\$ 44,216.75	EQUIPMENT WARRANTY TERM:	12 Months				
LABOR:	\$ 15,252.03	YOUR DESIRED GO-LIVE	*10/31/2023				
FREIGHT:	\$ 3,351.20						
ANNUAL LICENSING FEES INCLUDED:	\$ 28,356.00						
PROJECT SERVICES:	\$ 8,269.86						
FREIGHT SURCHARGE:	\$ 841.43						
TOTAL SYSTEM INVESTMENT:	\$ 100,287.27						

Denver Arts & Venues - Investment Summary							
EQUIPMENT & SOFTWARE:	\$ 39,753.74	EQUIPMENT WARRANTY TERM:	12 Months				
LABOR:	\$ 17,854.97	Your Desired Go-Live	*10/31/2023				
FREIGHT:	\$ 2,957.19						
ANNUAL LICENSING FEES INCLUDED:	\$ 25,020.00						
PROJECT SERVICES:	\$ 9,730.14						
FREIGHT SURCHARGE:	\$ 739.87						
TOTAL SYSTEM INVESTMENT:	\$ 96,055.91						



PROJECT LOCATION	BILL TO INFORMATION
CITY OF DENVER 201 WEST COLFAX AVENUE DENVER, CO 80202	CITY OF DENVER 201 W COLFAX DENVER, CO 80202

SOLUTION SUMMARY

CHANGE ORDER #2 IN CONNECTION TO CITY OF DENVER – PARCS | LOCAL ID 272155: TO ADDRESS OPERATIONAL CHANGES TO THE ORIGINAL PARCS CONTRACT INCLUDING MISSING PRODUCTS, CHANGING HID KEYPADS, ADDING TAGMASTER, A SKIOSK.SMART, AND RESTOCKING NO-NEEDED PRODUCTS.

WEBB GARAGE STATEMENT OF WORK

WEBB GARAGE: WELLINGTON E. WEBB MUNICIPAL OFFICE BUILDING: 201 W COLFAX AVE, DENVER, CO 80202

LANE 36 - ENTRY 36: ADDING 1x TAGMASTER LR6 AVI READER W/OL - OUTSIDE OF OVERHEAD DOOR FOR SECURITY AND AFTERHOURS ACCESS - NEEDS SD582 FOR CONTROLLING LANE

LANE 15 - EXIT 48: EXCHANGING SIGNO KEYPAD HID READER, EMV & NFC CONTACTLESS COMBO UNATTENDED TERMINAL, OEM TO EXISTING POWER.GATE

LANE 13 - ENTRY 29: ADDING GOOSENECK PEDESTAL WITH, NEW SIGNO KEYPAD HID READER, SD582 BOARD TO CONTROL EXISTING TAGMASTER LR3

LANE 13 - ENTRY 29: ADDING NEW SIGNO KEYPAD HID READER AND SD582 BOARD INSIDE BOOTH FOR OPERATOR CONTROL OF

LANE 14 - ENTRY 86: EXCHANGING SIGNO KEYPAD HID READER TO EXISTING POWER. GATE

LANE 17- NEST ENTRY 87: ADDING GOOSENECK PEDESTAL, NEW SIGNO KEYPAD READER, SD582 BOARD TO CONTROL EXISTING TAGMASTER I R3

LANE 16 - NEST EXIT 49: ADDING GOOSENECK PEDESTAL, NEW SIGNO KEYPAD READER, SD582 BOARD TO CONTROL EXISTING TAGMASTER LR3

303 GARAGE STATEMENT OF WORK

303 GARAGE: MINORU YASUI BUILDING: 303 W. COLFAX AVE, DENVER, CO 80202

LANE 33 - EXIT 103: ADDING GOOSENECK PEDESTAL, NEW SIGNO KEYPAD READER, SD582 BOARD TO CONTROL EXISTING TAGMASTER LR3 - EXISTING OH DOOR KIT

LANE 32 - EXIT 102: ADDING GOOSENECK PEDESTAL, NEW SIGNO KEYPAD READER, SD582 BOARD TO CONTROL EXISTING TAGMASTER LR3 - EXISTING OH DOOR KIT

JUSTICE GARAGE STATEMENT OF WORK

JUSTICE GARAGE: DENVER JUSTICE CENTER GARAGE: 490 W. 14TH AVE. DENVER, CO 80202

LANE 39 - EXIT 99: ADDING NEW SIGNO KEYPAD HID READER, AND SD582 BOARD MOUNTED ON EXISTING GOOSENECK TO CONTROL EXISTING TAGMASTER LR3

LANE 28 - ENTRY 98: ADDING SD582 BOARD MOUNTED ON EXISTING GOOSENECK TO CONTROL EXISTING TAGMASTER LR3

LANE 31 - NEST EXIT 101: ADDING NEW SIGNO KEYPAD HID READER, AND SD582 BOARD MOUNTED ON EXISTING GOOSENECK TO CONTROL EXISTING TAGMASTER LR3

Lane 30 - Nest Entry 100: Adding SD582 Board mounted on existing Gooseneck to control existing Tagmaster



JUDGES GARAGE STATEMENT OF WORK

JUDGES GARAGE: JUDGES GARAGE: 1348 CHEROKEE ST., DENVER, CO 80202

LANE 35 - ENTRY/EXIT 52: ADDING NEW SIGNO KEYPAD HID READER AND SD582 BOARD, MOUNTED IN WALL HOUSING TO CONTROL EXISTING TAGMASTER LR3s - EXISTING OH DOOR KIT

LANE 34 - ENTRY/EXIT 50: ADDING NEW SIGNO KEYPAD HID READER AND SD582 BOARD, MOUNTED IN WALL HOUSING TO CONTROL EXISTING TAGMASTER LR3s - EXISTING OH DOOR KIT

CULTURAL CENTER GARAGE STATEMENT OF WORK

CULTURAL GARAGE: CULTURAL CENTER COMPLEX GARAGE: 65 W. 12TH AVE, DENVER, CO, 80202

LANE 37 - ENTRY 105: ADDING TAGMASTER LR6 ACCESS BUNDLE TO CONTROL OVERHEAD DOOR FOR SECURITY AND AFTERHOURS ACCESS

LANE 19 - ENTRY 89: ADDING NEW SIGNO KEYPAD HID READER TO MOUNT ON EXISTING POWER. GATE

LANE 18 - ENTRY 88: ADDING NEW SIGNO KEYPAD HID READER TO MOUNT ON EXISTING POWER. GATE

LANE 21 - EXIT 91: ADDING NEW SIGNO KEYPAD HID READER TO MOUNT ON EXISTING POWER. GATE

LANE 20 - EXIT 90: ADDING NEW SIGNO KEYPAD HID READER TO MOUNT ON EXISTING POWER. GATE

LANE 22 - NEST ENTRY 92: ADDING NEW SIGNO KEYPAD READER, TO CONTROL EXISTING TAGMASTER LR3 (EXISTING GOOSENECK & HOUSING)

LANE 23 - NEST EXIT 93: ADDING NEW SIGNO KEYPAD READER, TO CONTROL EXISTING TAGMASTER LR3 (EXISTING GOOSENECK & HOUSING)

LANE 27 - (NEST/BROADWAY) EXIT 97: ADDING GOOSENECK PEDESTAL WITH COMMEND LOLP INTERCOM, NEW SIGNO KEYPAD READER, TO CONTROL EXISTING TAGMASTER LR3

LANE 26 - (NEST/BROADWAY) ENTRY 96: ADDING GOOSENECK PEDESTAL WITH COMMEND LOLP INTERCOM, NEW SIGNO KEYPAD READER, TO CONTROL EXISTING TAGMASTER LR3

LANE 24 - RESIDENT NEST ENTRY 94: ADDING COMMEND LOLP INTERCOM (EXISTING GOOSENECK & HOUSING) - EXISTING HID & CONTROLLER BOARD

LANE 25 - RESIDENT NEST EXIT 95: ADDING COMMEND LOLP INTERCOM (EXISTING GOOSENECK & HOUSING) - EXISTING HID & CONTROLLER BOARD

LANE 38 - ENTRY 106: ADD SIGNO HID ACCESS KIT

CULTURAL GARAGE POF - ADDING 1

ADDING SKIOSK. SMART WITH B2B RECYCLER CORE W/O/L - BUSINESS BUNDLE

- PROTECT. CARE ANTI-VIRUS PC/POF
- SKIOSK.SMART | RECIEPT PRINTER RETRO
- SKIOSK.SMART | PRINT@HOME BARCODE SCANNER
- SKIOSK.SMART | TICKET MOUTH BLIND RETRO
- WINDCAVE P2PE EMV CREDIT CARD UNATTENDED TERMINAL W/OL BUNDLE KIT
- EMV ONLY MOUNTING PLATE WINDCAVE & 3C SKIOSK SMART #1
- WINDCAVE NFC CONTACTLESS ANTENNA
- NFC ONLY MOUNTING PLATE WINDCAVE ONLY SKIOSK SMART
- SKIOSK.SMART | HEATING KIT 120V RETRO
- COMMEND ET901 INTERCOM
- ADVERTISING LICENSE



ARTS COMPLEX GARAGE STATEMENT OF WORK

ARTS COMPLEX GARAGE: ARTS COMPLEX: 1055 13TH STREET, DENVER, CO

13TH STREET GATES - NESTED BI-DIRECTIONAL LANE

LANE 10 - NEST ENTRY 27: REUSING SIGNO HID REMOVED FROM CULTURAL P.G. AND REPLACING HOUSING, ADDING LPR

LANE 10 - NEST EXIT 46: REUSING SIGNO HID REMOVED FROM CULTURAL P.G. AND REPLACING HOUSING, ADDING LPR

13TH STREET GATES - LOWER RESERVED LANES

LANE 11 - EXIT 47: REUSING SIGNO HID REMOVED FROM CULTURAL P.G. AND REPLACING HOUSING, ADDING LPR

LANE 12 - ENTRY 28: REUSING SIGNO HID REMOVED FROM CULTURAL P.G. AND REPLACING HOUSING, ADDING LPR

ARTS COMPLEX WORKSTATION - ADDING 1

ARTS COMPLEX POF - 2 EXISTING (ADDING 1)

ADDING SKIOSK. SMART WITH B2B RECYCLER CORE W/O/L - BUSINESS BUNDLE

- PROTECT. CARE ANTI-VIRUS PC/POF
- SKIOSK.SMART | RECIEPT PRINTER RETRO
- SKIOSK.SMART | PRINT@HOME BARCODE SCANNER
- SKIOSK.SMART | TICKET MOUTH BLIND RETRO
- WINDCAVE P2PE EMV CREDIT CARD UNATTENDED TERMINAL W/ OL BUNDLE KIT
- EMV ONLY MOUNTING PLATE WINDCAVE & 3C SKIOSK SMART #1
- WINDCAVE NFC CONTACTLESS ANTENNA
- NFC ONLY MOUNTING PLATE WINDCAVE ONLY SKIOSK SMART
- SKIOSK.SMART | HEATING KIT 120V RETRO
- COMMEND ET901 INTERCOM
- ADVERTISING LICENSE

LICENSES & SOFTWARE:

15 LANES SAAS - NEW FACILITY

- SWEB.CONTROL
- SWEB.MOBILE PAY
- SWEB. VALIDATE
- SWEB.ECOM W/ ETICKET

COMMEND INTERCOM LICENSES:

ARTS COMPLEX: +3 (+3xET901) (19 EXISTING | 4x DOOR.GATE - 15xET901) - 22 TOTAL NEEDED

RETURNS TO CITY OF DENVER

RETURNS

LANE 13 - ENTRY 29: REMOVING AND RETURNING POWER. GATE - ECO X 1

SIGNO HID READERS x 12

DOOR. GATE ONLY HOUSINGS X 4 - (REPLACING WITH DOOR. GATE & HID HOUSING)

12U SERVER RACK BUNDLE - PROVIDED BY CITY TECH SERVICES

CISCO MANAGED SWITCHES - 10P AND 52P



	SCOPE OF WORK & RESPONSIBILITIES					
#	LABOR & PROFESSIONAL SERVICES	SCOPE RESPONSIBILITY				
1	CUSTOMER WILL PROVIDE ALL NEW CONDUIT WITH PULL STRING AND JUNCTION BOXES AS SPECIFIED BY SKIDATA.	Customer				
2	EXISTING LOOPS WILL BE RE-USED. INSTALLATION OF NEW LOOPS WILL REQUIRE A CHANGE ORDER.	CLARIFICATIONS				
3	CUSTOMER WILL PROVIDE AND INSTALL ALL REQUIRED LOW VOLTAGE COMMUNICATION OR CONTROL CABLE AND INSTALLATION OF SAME.	Customer				
4	CUSTOMER WILL FORM AND POUR PARKING ISLANDS WITH LOW VOLTAGE CONDUIT STUB-UPS PER SKIDATA SPECIFICATIONS.	Customer				
5	Customer will provide all 120V power in Junction Boxes at Equipment Locations. One circuit per Lane and one circuit per Pay-on-Foot.	Customer				
6	GROUND PENETRATING RADAR OR X-RAYS OF CONCRETE DECK ARE EXCLUDED. IF NEEDED, A CHANGE ORDER WILL BE REQUIRED.	Exclusions				
7	FINAL SYSTEM TESTING AND CHECKOUT.	SKIDATA				
8	A SECURE STORAGE SPACE TO BE PROVIDED BY CLIENT FOR MATERIAL AND EQUIPMENT STAGING.	Customer				
9	CUSTOMER MUST SEPARATELY ORDER TICKETS FOR USE IN THE PARCS EQUIPMENT. TICKETS CAN BE SEPARATELY PURCHASED FROM SKIDATA OR PROVIDED BY THE CUSTOMER. TICKETS SHALL BE CERTIFIED BY SKIDATA.	Customer				
10	NO LIQUIDATED DAMAGES	Exclusions				
11	No Bonds	Exclusions				
12	NO PREVAILING WAGE REQUIREMENTS	Exclusions				
13	NO UNION LABOR	Exclusions				
14	WORK PERFORMED OUTSIDE OF STANDARD BUSINESS HOURS IS EXCLUDED. OVERTIME WORK WILL RESULT IN A CHANGE ORDER.	Exclusions				

	Lanes Per Garage Assessment				
#	GARAGE	QTY			
1	Webb Garage	5			
2	303 GARAGE	2			
3	JUDGES GARAGE	2			
4	JUSTICE GARAGE	2			
5	CULTURAL GARAGE	6			
6	ARTS COMPLEX GARAGE	15			



	SITE LOCATION SUMMARY														
#	Locations	Investment	ENTRY BARRIER	EXIT BARRIER	POWER \ LITE ENTRY	Access Entry	Power Exit	Access Exit	LPR CAMERA	EXIT CASHIER	CASH POF	CREDIT CARD POF	LED Signs	SPACE SENSORS	SERVER / WORKSTATION
1	WEBB GARAGE	\$ 15,962	0	0	0	2	0	1	0	0	0	0	0	0	0
2	CULTURAL GARAGE	\$ 16,752	0	0	0	1	0	1	0	0	0	0	0	0	0
3	JUSTICE GARAGE	\$ 6,139	0	0	0	0	0	2	0	0	0	0	0	0	0
4	303 GARAGE	\$ 5,260	0	0	0	1	0	1	0	0	0	0	0	0	0
5	JUDGES GARAGE	\$ 6,576	0	0	0	0	0	0	0	0	0	0	0	0	0
6	ARTS COMPLEX GARAGE	\$ 22,863	0	0	0	0	0	0	8	0	0	0	0	0	0
7	POF	\$ 57,213	0	0	0	0	0	0	0	0	2	0	0	0	0
8	WORKSTATIONS / LICENSES	\$ 68,335	0	0	0	0	0	0	0	0	0	0	0	0	1
9	Scope of Work	\$0	0	0	0	0	0	0	0	0	0	0	0	0	0
10	RETURNS	-\$ 19,725	0	0	-1	0	0	0	0	0	0	0	0	0	0
	SITE LOCATION TOTAL	179,375	0	0	-1	4	0	5	8	0	2	0	0	0	1



	CITY OF DENVER RECURRING ITEMS INCLUDED IN FIRST YEAR								
#	SERVICE	UNIT PRICE	QTY	ANNUAL TOTAL PRICE					
1	UPGRADE SAAS LANE FEE V14/15 - 2022 UPGRADE SAAS PRICE PER LANE FOR SITES ON VERSION 14 OR 15. PRICE IS PER YEAR. 5 YEARS MINIMUM REQUIRED. AFTER 5 YEARS, RATE ADJUSTS TO CURRENT RATES	\$1,200.00	17	\$ 20,400					
2	SWEB ECOM B2B WEBSHOP - PER LANE PRICE PER LANE. EXTENDS THE SOLUTION FOR PARKING ONLINE. ENABLES PAY-PER- USE, ONLINE SUBSCRIPTIONS AND PRE-BOOKING.	\$ 468.00	17	\$ 7,956					
3	SAAS - PROTECT. CARE ANTI-VIRUS - DAU SKIDATA ANTI-VIRUS SOLUTION	\$ 0.00	1	\$0					

ARTS COMPLEX RECURRING ITEMS INCLUDED IN FIRST YEAR								
#	SERVICE	UNIT PRICE	QTY	ANNUAL TOTAL PRICE				
4	UPGRADE SAAS LANE FEE V14/15 - 2022 Upgrade Saas Price per Lane for sites on Version 14 or 15. Price is per year. 5 years minimum required. After 5 years, rate adjusts to current rates	\$1,200.00	15	\$ 18,000				
5	SWEB ECOM B2B WEBSHOP - PER LANE PRICE PER LANE. EXTENDS THE SOLUTION FOR PARKING ONLINE. ENABLES PAY-PER- USE, ONLINE SUBSCRIPTIONS AND PRE-BOOKING.	\$ 468.00	15	\$ 7,020				
6	SAAS - PROTECT. CARE ANTI-VIRUS - DAU SKIDATA ANTI-VIRUS SOLUTION	\$ 0.00	1	\$0				



	LOCATION: WEBB GARAGE SYSTEM COMPONENTS					
#	BUNDLE NAME	UNIT PRICE	QTY	EXTENDED PRICE		
1	WIEGAND CONVERTER BOARD FOR SKIDATA WEIGAND CONVERTER BOARD FOR SKIDATA	\$ 403.36	4	\$ 1,613		
2	TAGMASTER LR6 AVI READER W/O OL - ACCESS BUNDLE 2022 TAGMASTER RFID MICROWAVE READER, UP TO 20 FT READ RANGE, MOUNTING POLE, MOUNTING BRACKET, POWER SUPPLY, AND SKIDATA SMART BOARD	\$4,474.27	1	\$ 4,474		
3	SD582 INTERFACE BOARD W/ POWER SUPPLY INTELLIGENT INTERFACE BOARD SD582 VARIANT "STANDARD" WITH POWER SUPPLY, INCL. ETHERNET (SD583)	\$ 793.69	4	\$ 3,175		
4	POWER SUPPLY - 12V - 4.5A - DIN RAIL 12V POWER SUPPLY FOR IN LANE OR POF	\$ 114.71	4	\$ 459		
5	GOOSENECK PEDESTAL - ENTRY LANE 36 INCH TALL, 6 INCH DEEP, GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD - SILVER	\$ 656.80	2	\$ 1,314		
6	HOUSING - HID READER ONLY 8"H x 6"W x 6"D Housing for Keycard Reader, Pedestal Mountable, Grey Finish	\$ 474.24	3	\$ 1,423		
7	HID SIGNO KEYPAD READER 40K SIGNO40K, WALL MOUNT W/KEYPAD, 13.56MHz &125kHz, OSDP/WIEGAND, PIGTAIL, MOBILE READY, BLE	\$ 395.51	5	\$ 1,978		
8	GOOSENECK PEDESTAL - EXIT LANE GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD	\$ 656.80	1	\$ 657		
9	OVERHEAD DOOR CONNECTION KIT - NO BARRIER NEEDS FOR CONNECTING A COLUMN OR PEDESTAL TO OVERHEAD DOOR WHEN NO BARRIER GATE PRESENT: NEMA ENCLOSURE, LOOP DETECTOR AND CABLE	\$ 646.76	1	\$ 647		



LOCATION: 303 GARAGE System Components						
#	# BUNDLE NAME			QTY	EXTENDED PRICE	
10		GOOSENECK PEDESTAL - EXIT LANE GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD	\$ 656.80	1	\$ 657	
11		HID SIGNO KEYPAD READER 40K Signo40K, Wall mount w/Keypad, 13.56mHz &125kHz, OSDP/Wiegand, Pigtail, Mobile Ready, BLE	\$ 395.51	2	\$ 791	
12		GOOSENECK PEDESTAL - ENTRY LANE 36 INCH TALL, 6 INCH DEEP, GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD - SILVER	\$ 656.80	1	\$ 657	
13		HOUSING - HID READER ONLY 8"Hx 6"Wx 6"D Housing for Keycard Reader, Pedestal Mountable, Grey Finish	\$ 474.24	2	\$ 948	
14		BARRIER.GATE 'SMART' EXTENSION RETRO Additional modes of operation for a barrier without parking column (Power/Lite.Gate) e.g. for 3rd party reader or Pay-in-Lane. incl. Smart CPU, USB/serial converter (SD861), power supply	\$1,071.97	2	\$ 2,144	

	LOCATION: JUSTICE GARAGE SYSTEM COMPONENTS					
#	BUNDLE NAME	UNIT PRICE	QTY	Extended Price		
15	HOUSING - HID READER ONLY 8"H x 6"W x 6"D Housing for Keycard Reader, Pedestal Mountable, Grey Finish	\$ 474.24	4	\$ 1,897		
16	BARRIER.GATE 'SMART' EXTENSION RETRO Additional modes of operation for a barrier without parking column (Power/Lite.Gate) e.g. for 3rd party reader or Pay-in-Lane. incl. Smart CPU, USB/serial converter (SD861), power supply	\$1,071.97	2	\$ 2,144		
17	HID SIGNO KEYPAD READER 40K SIGNO40K, WALL MOUNT W/KEYPAD, 13.56MHz &125KHz, OSDP/WIEGAND, PIGTAIL, MOBILE READY, BLE	\$ 395.51	2	\$ 791		
18	EXIT.ACCESS PEDESTAL SKIDATA PEDESTAL FOR CONTRACT PARKER EXIT.	\$ 618.80	2	\$ 1,238		



	LOCATION: JUDGES GARAGE SYSTEM COMPONENTS					
#	BUNDLE NAME	UNIT PRICE	QTY	Extended Price		
19	HOUSING - HID READER ONLY 8"H x 6"W x 6"D Housing for Keycard Reader, Pedestal Mountable, Grey Finish	\$ 474.24	2	\$ 948		
20	BARRIER.GATE 'SMART' EXTENSION RETRO Additional modes of operation for a barrier without parking column (Power/Lite.Gate) e.g. for 3rd party reader or Pay-in-Lane. incl. Smart CPU, USB/Serial converter (SD861), power supply	\$1,071.97	2	\$ 2,144		
21	HOUSING - COMMEND INTERCOM AND HID READER 8"H x 10"W x 6"D HOUSING FOR COMMEND INTERCOM STATION WITH KEYCARD READER PEDESTAL MOUNTABLE, GREY FINISH	\$ 510.32	2	\$ 1,021		
22	HID SIGNO KEYPAD READER 40K SIGNO40K, WALL MOUNT W/KEYPAD, 13.56MHz &125kHz, OSDP/WIEGAND, PIGTAIL, MOBILE READY, BLE	\$ 395.51	2	\$ 791		
23	SD582 INTERFACE BOARD W/ POWER SUPPLY INTELLIGENT INTERFACE BOARD SD582 VARIANT "STANDARD" WITH POWER SUPPLY, INCL. ETHERNET (SD583)	\$ 793.69	2	\$ 1,587		

	LOCATION: ARTS COMPLEX GARAGE SYSTEM COMPONENTS						
#	# BUNDLE NAME		QTY	Extended Price			
24	HOUSING - DOORGATE PARKING W HID HOUSING FOR THE DOORGATE "PARKING" READER WITH HID PROX POINT OR SIGNO READER	\$ 557.84	4	\$ 2,231			
25	BARRIER.GATE 'SMART' EXTENSION RETRO Additional modes of operation for a barrier without parking column (Power/Lite.Gate) e.g. for 3rd party reader or Pay-in-Lane. incl. Smart CPU, USB/serial converter (SD861), power supply	\$1,071.97	4	\$ 4,288			
26	HTS LPR LANE BUNDLE HTS COLOR AND IR CAMERA, LPR POLE, CAMERA POWER SUPPLY, LOOP DETECTOR & HARNESS, WEB RELAY	\$4,010.50	4	\$ 16,042			



	LOCATION: CULTURAL GARAGE System Components					
#	Bundle Name		QTY	Extended Price		
27	COMMEND - IOIP/SIP ES962 INTERCOM SUBSTATION HYBRID IOIP/SIP VANDAL RESISTANT 2-GANG STATION WITH ONE CALL BUTTON	\$ 539.22	4	\$ 2,157		
28	BARRIER.GATE 'SMART' EXTENSION RETRO ADDITIONAL MODES OF OPERATION FOR A BARRIER WITHOUT PARKING COLUMN (POWER/LITE.GATE) E.G. FOR 3RD PARTY READER OR PAY-IN-LANE. INCL. SMART CPU, USB/SERIAL CONVERTER (SD861), POWER SUPPLY	\$1,071.97	2	\$ 2,144		
29	TAGMASTER LR6 AVI READER W/O OL - ACCESS BUNDLE 2022 TAGMASTER RFID MICROWAVE READER, UP TO 20 FT READ RANGE, MOUNTING POLE, MOUNTING BRACKET, POWER SUPPLY, AND SKIDATA SMART BOARD	\$4,474.27	1	\$ 4,474		
30	OVERHEAD DOOR CONNECTION KIT - NO BARRIER NEEDS FOR CONNECTING A COLUMN OR PEDESTAL TO OVERHEAD DOOR WHEN NO BARRIER GATE PRESENT: NEMA ENCLOSURE, LOOP DETECTOR AND CABLE	\$ 646.76	1	\$ 647		
31	HOUSING - HID READER ONLY 8"Hx 6"Wx 6"D Housing for Keycard Reader, Pedestal Mountable, Grey Finish	\$ 474.24	2	\$ 948		
32	HOFFMAN 18"H x 18"W x 6"D METAL ENCLOSURE - HINGED DOOR HINGED COVER, ANSI 61 GRAY POLYESTER POWER-COATED FINISH INSIDE & OUT, INCLUDES QUICK RELEASE & PAD-LOCKABLE LATCH	\$ 556.12	1	\$ 556		
33	HID SIGNO READER 40 W/O OL - ACCESS BUNDLE 2022 HID SIGNO READER 40 WITH POWER SUPPLY, WIEGAND CONVERTER AND SKIDATA SMART BOARD	\$1,889.25	1	\$ 1,889		
34	HID SIGNO KEYPAD READER 40K SIGNO40K, WALL MOUNT W/KEYPAD, 13.56MHz &125KHz, OSDP/WIEGAND, PIGTAIL, MOBILE READY, BLE	\$ 395.51	6	\$ 2,373		
35	GOOSENECK PEDESTAL - EXIT LANE GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD	\$ 656.80	1	\$ 657		
36	GOOSENECK PEDESTAL - ENTRY LANE 36 INCH TALL, 6 INCH DEEP, GOOSENECK PEDESTAL WITHOUT HOUSING / HEAD - SILVER	\$ 656.80	1	\$ 657		



	LOCATION: ARTS COMPLEX POF SYSTEM COMPONENTS						
#	# BUNDLE NAME			QTY	EXTENDED PRICE		
37	CONHEND	DIGITAL INTERCOM ET901 KIT COMMEND DIGITAL INTERCOM KIT CONVERTS ANALOG TO IP. INCLUDES DIN RAIL FASTENER	\$ 385.29	1	\$ 385		
38		SKIOSK.SMART WITH BILL-TO-BILL BANKNOTE RECYCLER - COINLESS - BUSINESS 21.5" TOUCHSCREEN DISPLAY, ADA HEIGHT ACCESS, ILLUMINATED BLUE TOP, BARCODE SCANNER AND BILL-TO-BILL BANKNOTE RECYCLER; DOES NOT INCLUDE COIN AND CAN NOT BE ADDED LATER	\$27,805.73	1	\$ 27,806		

	LOCATION: CULTURAL CENTER POF SYSTEM COMPONENTS						
#	# BUNDLE NAME			QTY	Extended Price		
39	COMMEND	DIGITAL INTERCOM ET901 KIT COMMEND DIGITAL INTERCOM KIT CONVERTS ANALOG TO IP. INCLUDES DIN RAIL FASTENER	\$ 385.29	1	\$ 385		
40	100	SKIOSK.SMART WITH BILL-TO-BILL BANKNOTE RECYCLER - COINLESS - BUSINESS 21.5" TOUCHSCREEN DISPLAY, ADA HEIGHT ACCESS, ILLUMINATED BLUE TOP, BARCODE SCANNER AND BILL-TO-BILL BANKNOTE RECYCLER; DOES NOT INCLUDE COIN AND CAN NOT BE ADDED LATER	\$27,805.73	1	\$ 27,806		



	LOCATION: ARTS COMPLEX WORKSTATIONS / LICENSES SYSTEM COMPONENTS						
#	# BUNDLE NAME			QTY	EXTENDED PRICE		
41		WORKSTATIONS AND PROCESS PCS WORKSTATIONS, CASHIER STATIONS, PROCESS PCS. HP PC HARDWARE TO MANAGE PARKING SYSTEM	\$2,225.46	1	\$ 2,225		
42		COMMEND - LICENSE VIRTUOSIS, 8 ADDITIONAL B-SUBSCRIBER PORTS LICENSE FOR 8 SUBSCRIBERS, FEATURE LEVEL B	\$ 778.04	1	\$ 1,556		

LOCATION: CITY OF DENVER WORKSTATIONS / LICENSES SYSTEM COMPONENTS						
#	BUNDLE NAM	UNIT PRICE	QTY	EXTENDED PRICE		
43		COMMEND - LICENSE VIRTUOSIS, 8 ADDITIONAL B-SUBSCRIBER PORTS LICENSE FOR 8 SUBSCRIBERS, FEATURE LEVEL B	\$ 778.04	1	\$ 1,556	

LOCATION: SOFTWARE INCLUDED IN ANNUAL LICENSING SYSTEM COMPONENTS					
#	BUNDLE NAM	IE .			
44	V	SWEB.CONTROL THE CENTRALIZED AND AUTOMATED MONITORING AND CONTROL SOLUTION TO MANAGE ALL YOUR PARKING SITES AND 3RD PARTY DEVICES FROM EVERYWHERE AND AT ALL TIMES!			
45		SWEB E-TICKETING THE SERVICE GENERATES AND E-MAILS ELECTRONIC TICKETS. SKIDATA COORDINATES THE INTEGRATION OF VARIOUS WALLETS AND TICKET TECHNOLOGIES, AS WELL AS THEIR RELIABLE DELIVERY, ON YOUR BEHALF.			
46		SWEB MOBILE PAY USERS SCAN THE QR CODE ON THE SHORT-TERM PARKING TICKET AND CAN PAY FOR IT DIRECTLY WITH THEIR SMARTPHONE - NO APP, NO REGISTRATION AN AGREEMENT FOR CREDIT CARD PROCESSING WITH ADEN OR WINDCAVE IS REQUIRED.			
47		SWEB.VALIDATE ELECTRONIC MANAGEMENT AND APPLICATION OF VALIDATIONS. HTTPS://TINYURL.COM/M83DMVS			
48	ल् म	SWEB ECOM PUT YOURSELF IN THE DRIVER'S SEAT OF DIGITALIZATION WITH A USER-FRIENDLY, CUSTOMIZABLE ONLINE SHOP THAT SEAMLESSLY PLUGS INTO YOUR EXISTING WEBSITE OR MOBILE APP FOR PAY-PER-USE MODELS, ONLINE BOOKINGS, AND SUBSCRIPTIONS			



	LOCATION: RETURNS TO CITY OF DENVER System Components						
#	BUNDLE NAM		UNIT PRICE	QTY	EXTENDED PRICE		
49	5	HOUSING - DOORGATE - PARKING - READER ONLY HOUSING FOR THE DOORGATE PARKING READER ONLY	\$ 502.40	-4	-\$ 2,010		
50		CISCO CBS350-10 10-PORT GIGABIT MANAGED SFP SWITCH CISCO SERIES CBS350-10SFP - SWITCH - L3 - MANAGED - 8 x GIGABIT SFP + 2 x COMBO GIGABIT ETHERNET/GIGABIT SFP	\$ 641.26	-7	-\$ 4,489		
51		CISCO SWITCH SFP - MULTIMODE SFP - MM - FOR SG350 SWITCHES	\$ 64.01	-2	-\$ 128		
52		CISCO CBS350-52 52-PORT GIGABIT MANAGED SWITCH CISCO SMALL BUSINESS CBS350-52 - SWITCH - L3 - MANAGED - 48 X 10/100/1000 + 4 x GIGABIT SFP - RACK-MOUNTABLE	\$ 926.74	-2	-\$ 1,853		
53		HID SIGNO READER 40 SIGNO40, WALL MOUNT, 13.56MHz &125kHz, OSDP/WIEGAND, PIGTAIL, MOBILE READY, BLE	\$ 298.72	-12	-\$ 3,585		
54		POWER.GATE ENTRY - ECO POWER.GATE ENTRY ECO PACKAGE. BASE MODEL INCLUDES FULL COLOR TOUCHSCREEN, CONTOUR LIGHT STRIPE, RFID READER, AND INFORMATION DISPLAY FIELD	\$4,902.08	-1	-\$ 4,902		
55		12U RACK WALL MOUNT BUNDLE 12U LOCKABLE RACK WITH CABLE MANAGEMENT SYSTEM, SLIDING SHELF, 24 PORT PATCH PANEL, KEYSTONE JACK, ACCESSPOINT KEYSAFE, 750 UPS.	\$1,471.96	-1	-\$ 1,472		
56	1	HOUSING - COMMEND INTERCOM AND HID READER 8"H x 10"W x 6"D HOUSING FOR COMMEND INTERCOM STATION WITH KEYCARD READER PEDESTAL MOUNTABLE, GREY FINISH	\$ 510.32	-2	-\$ 1,021		